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Bernoulli random variable X
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If Xi is a Bernoulli random variable then

X X TX t t Xu is a binomial nip random variable
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A family has n children with probability xp I
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b If each child is equally likely to be a

boy or a girl what proportion of families

consist of h boys
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7 Person panel of judges each males correct judgement

independently with Probability 0.7
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Decision by majority what is the probability

the panel mahs the correct decision
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Guin that 4 judges agreed what is the

probability that the panel made the cornet decision
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